AB &R W

F 295 9A3H(H)
IE A K £ Tk 4 > | =% | HDCP ok RAUk
& B EE HH 42 35 77 12.0 65.0 500
B HE F 40 42 82 17.0 65.0 400
<]iva m & 47 45 92 27.0 65.0 300
A3 A A 40 38 78 12.0 66.0 100
541 )il EE 39 40 79 13.0 66.0 80
64z BA tha 41 42 83 17.0 66.0
741 LA =8 57 45 102 36.0 66.0 70
841 AN XRE 42 40 82 15.0 67.0
9fi1 gk =95 40 39 79 11.0 68.0
104z e —X2 36 35 71 0.0 71.0 50
114 B =# 36 36 72 1.0 71.0
1241 FI&EB  ZEA 36 37 73 2.0 71.0
134 LA BRF 43 40 83 12.0 71.0
1441 HE KR 40 41 81 10.0 71.0
1541 BX F 42 42 84 13.0 71.0
164iz TH #%HE 37 35 72 0.0 72.0
1741 KM —5 42 37 79 7.0 72.0
181iz tE B 40 38 78 6.0 72.0
1941 LT = 37 38 75 3.0 72.0
201iL a4 Bsh 42 39 81 9.0 72.0 50
2141 i R 43 41 84 12.0 72.0
22131 Hff F8% 38 38 76 3.0 73.0
234 FF B— 44 40 84 11.0 73.0
24431 iR =X 42 41 83 10.0 73.0
2541 xE = 42 44 86 13.0 73.0
2611 RKAR =HiE 40 45 85 12.0 73.0
2741 BAX FA 42 47 89 16.0 73.0
2841 FE B 41 40 81 7.0 74.0
291 B ORE 43 43 86 12.0 74.0
301 i 50 49 99 25.0 74.0 50
3141 M RAER 44 38 82 7.0 75.0




AB &R W

F 295 9A3H(H)
IE A K £ Tk 4 > | =% | HDCP ok RAUk
324 EAX XB 47 43 90 15.0 75.0
33{iz INR TEE 50 47 97 22.0 75.0
3441 mAR EBEZH 46 51 97 22.0 75.0
3541 E 44 38 82 6.0 76.0
361 TR (PS 42 41 83 7.0 76.0
374 Ay X4 46 41 87 11.0 76.0
381 AR ER 41 45 86 10.0 76.0
39{i EX &S 52 51 103 27.0 76.0
4041 /N TR 50 40 90 13.0 77.0 50
4143 BB 47 43 90 13.0 77.0
424 NE B 53 44 97 20.0 77.0
431 ERK & 48 44 92 15.0 77.0
4441 HiE A 43 44 87 10.0 77.0
A5{i% =2E X 47 48 95 18.0 77.0
4611 Bl RE 45 50 95 18.0 77.0
AT{L TR BB 47 41 88 10.0 78.0
A81L A& #KiE 47 43 90 12.0 78.0
491 Ak 2 49 43 92 14.0 78.0
5043z WE IE# 49 44 93 15.0 78.0 50
5141 BRH EE 42 45 87 8.0 79.0
52{i XA BE 47 44 91 11.0 80.0
53{iz FNl EE 55 44 99 19.0 80.0
5441 MmN E=HB 51 46 97 17.0 80.0
55{iz Bk #EA 48 47 95 15.0 80.0
564i HBAR g 41 49 90 10.0 80.0
574 ME —BB 54 49 103 23.0 80.0
584i BH EX 46 51 97 17.0 80.0
594z HIR i 52 51 103 21.0 82.0
601L BR BH 50 53 103 19.0 84.0 50
611L AR REE 56 51 107 22.0 85.0
6211 TR FH 49 a7 96 10.0 86.0
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F 295 9A3H(H)
IE A K £ Tk 4 > | =% | HDCP ok RAUk
6311 HE RE 58 43 101 13.0 88.0
644 XH &= 47 54 101 13.0 88.0
BBE FI&ER  SEq= 57 58 115 24.0 91.0 80
661 FE =mEER 52 59 111 10.0 101.0
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